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= = S AV 7 S HVE | = = S AV = S AV B2l =
1 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/M%E# %% = -~ = -|3mEBZD -~ = = =
Fh st 1.00/ 000 ~ 586 86.73| #hilst (000 ~ 586| 1.94 8.53 ZFh st 1.00] 5.00 ~ 13.69 86.73| #hilst | 500 ~ 13.69| 1.94 8.53
5 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEEZD -~ = = =
Fh st 1.00/ 000 ~ 6.40 95.39| #hilst (000 ~ 6.40| 211 9.28 ZFh st 1.00] 5.00 ~ 17.38 95.39| #hbLlst | 500 ~ 17.38] 2.11 9.28
3 100kN/mM#Z#BZ % 1.00/0.00 ~ 0.98 116.59|3mZ#BRSH| - ~ = = -| 100kN/mM%E# %% 1.00| 14.89 ~ 23.48 116.59|3m%E#BZ 5 -~ = = =
Fh st 1.00/0.98 ~ 7.66 100.00| Zh k14t |0.00 ~ 7.66) 2.53 11.13 ZFh st 1.00] 5.00 ~ 14.89 100.00| Zh st | 500 ~ 23.48| 2.53 11.13
4 100kN/mM%# %% 1.00/ 000 ~ 0.28 104.59|3m%E#BZB| - ~ = = -| 100kN/mM#%#8 2% 1.00| 20.91 ~ 2579 104.59|3m%E#BZ % -~ = = =
Fh st 1.00/0.28 ~ 6.96 100.00| Zhll4t |0.00 ~ 6.96[ 2.70 11.89 ZFh st 1.00] 5.00 ~ 2091 100.00| Zh st | 500 ~ 2579| 2.70 11.89
s 100kN/mMZ# %% 1.00/ 0,00 ~ 0.60 110.03|3m%E#BZB| - ~ = = -| 100kN/mM#%#8 %% 1.00| 18.18 ~ 26.90 110.03|3m%#BZ% -~ = = =
Fh st 1.00/0.60 ~ 7.28 100.00| Zhli4t | 000 ~ 7.28] 2.74 12.07 Fh st 1.00|] 500 ~ 18.18 100.00| Zh st | 500 ~ 26.90| 2.74 12.07
6 100kN/mM#Z#BZ % 1.00/0.00 ~ 1.75 130.34|3mZE#BRD| - ~ = = -| 100kN/mM%E# %% 1.00| 12.63 ~ 23.48 130.34| 3m%EH#BZ S -~ = = =
ZFh st 1.00/1.75 ~ 843 100.00| Zh k14t |0.00 ~ 843 2.78 12.22 Fh st 1.00] 500 ~ 12.63 100.00f Zh it | 500 ~ 2348| 278 12.22
; 100kN/mMZ# %% 1.00/ 000 ~ 1.75 130.46|3m%E EZB| - ~ = = -| 100kN/mM%#8 2% 1.00| 12.62 ~ 23.44 130.46|3m%i#BZ D -~ = = =
ZFh st 1.00/1.75 ~ 844 100.00| Zhlist [ 0.00 ~ 844 279 12.26 Fh st 1.00] 500 ~ 12,62 100.00f Zhiust | 500 ~ 23.44| 279 12.26
g 100kN/mMZ# %% 1.00/ 0,00 ~ 1.50 125.85|3m%#8%5|0.00 ~ 0.12( 3.08 13.57| 100kN/m%#B% % 1.00| 13.72 ~ 22.27 125.85|3m%#B % 5| 20.00 ~ 22.27| 3.08 13.57
ZFh st 1.00/ 150 ~ 8.18 100.00| Zhli4t |0.12 ~ 8.18 3.00 13.20 Fh st 1.00] 500 ~ 1372 100.00| Zh st | 5.00 ~ 20.00| 3.00 13.20
9 100kN/mZ# %% 1.00/ 0,00 ~ 1.41 124.34|3m%E#BZB| - ~ = = -| 100kN/mM#%#8 2% 1.00| 1299 ~ 2197 124.34|3m%E#BZ D -~ = = =
ZFh st 1.00[ 1.41 ~ 8.10 100.00| Zhli4t |0.00 ~ 8.10[ 2.68 11.79 Fh st 1.00] 500 ~ 1299 100.00| Zh st | 500 ~ 21.97| 2.68 11.79
10 100kN/mMZ# %% 1.00/ 0,00 ~ 1.40 124.14|3m%E#BZB| - ~ = = -| 100kN/mM#%#8 2% 1.00| 12.61 ~ 19.94 124.14|3m%#B 7% -~ = = =
ZFh st 1.00/1.40 ~ 8,09 100.00| Zh kst | 000 ~ 8.09| 2.49 10.95 Fh st 1.00] 500 ~ 1261 100.00f Zhiust | 500 ~ 19.94| 249 10.95
» 100kN/mM%# %% 1.00/ 000 ~ 1.34 123.01|3m%E#BZB| - ~ = = -| 100kN/mM%#8 2% 1.00| 12.67 ~ 19.98 123.01|3m%E#BZ% -~ = = =
ZFh st 1.00/1.34 ~ 803 100.00| Zhll4t | 000 ~ 8.03[ 242 10.64 Fh st 1.00] 500 ~ 1267 100.00f Zh it | 500 ~ 19.98| 242 10.64
12 100kN/mM#Z#BZ % -l -~ = -|3ImEBZD| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
ZFh st 1.00/ 000 ~ 343 50.77| #hilst (000 ~ 0.00| 1.65 7.26 Fh st 1.00] 500 ~ 500 50.77| #hils | 500 ~ 500| 1.65 7.26
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhnist ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEZD ~
st ~ Zh st ~ ZhLst ~ Zh st ~
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